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Scheme Code State Code Year District Code Centre Code Roll No.

STATE LEVEL NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2019
MENTAL AB/LITY AND SCHOLAST/IC AB/ILITY TEST

For Class VIII

Time : Mental Ability Test - For General - 90 Minutes, For Disabled (Only Blind) - 120 Minutes Full Marks : 90
Time : Scholastic Ability Test - For General - 90 Minutes, For Disabled (Only Blind) - 120 Minutes Full Marks : 90

Instructions to Candidates
Read the following instructions carefully before you Answer the Questions.
Answers are to be given on a seperate OMR Answer-Sheet.
1. Please write your Scheme Code, State Code, Year, District Code, Centre Code and Roll No. very clearly (only one
digit in one Block) as given on your Admission Card. Please see that no Block is left unfilled and even zeros appearing
in the Scheme Code, State Code, Year, District Code, Centre Code and Roll No. are correctly transferred to the
appropriate Block on the booklet and on the Answer-Sheet. For example, a student of Class VIII appearing from 'P'
Centre, Scheme Code '3', State Code '20', Year '19', District Code '88', Centre Code '88' with Roll No. '888', will
make entries in the Block as well as darken the related circle by a Blue or Black Point Pen as under :-

Scheme State Year District Centre Roll No.
Code Code Code Code
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® 0 00 00 00 000
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For all subsequent purposes your Scheme Code, State Code, Year, District Code, Centre Code and Roll No. shall
remain the same as given on the Admission Card.

2. This test is in two Parts. Part-I (Mental Ability Test) consists of 90 Questions and Part-II (Scholastic Ability Test)
consists of 90 Questions.

All questions in Part-I and Part-II carry 1 mark each.
Since all questions are compulsory, do not try to read through the whole Question paper before beginning to answer it.

Begin with the first Question and keep on trying one Question after another till you finish both the parts.

AN N

If you do not know the answer to any Question, do not spend much time on it and pass on to the next one. Time
permitting, you can come back to the Question which you have left in the first instance and try them again.

Blank space has been provided for rough-work at the end of each subject.

Remember you have to darken the circle of Answer-Sheet by a Blue or Black Ball Point Pen only; do not use a
pencil.

9. Answer to each Question is to be indicated by darkening the number of the correct alternative in the Answer-Sheet
from amongst the ones given for the corresponding Question in the question-booklet.

10. Now turn to the next page and start answering the questions.
11. English version of the question paper will be considered as final in case of any dispute arising out of the variation in translation.

N.B.: Do no write on Question-Booklet anything except the Scheme Code, State Code, Year, District Code, Centre
Code and Roll No. However, Rough Work can be done anywhere in the space provided for it in the Booklet.



Part - I I -1
MENTAL ABILITY TEST HHi*e qraar T
Time : For General - 90 Minutes, For Disabled (Only Blind)-120 Minutes 94 : & & fqu-90 e, Froo (@ ) & fe-120 frefe
Full Marks : 90 Tﬂ?ﬁ : 90
[MAT-1]
Questions 1-10 In each of the following us9 1-10 ﬁﬂ:ﬂ%ﬂﬁlﬁ 79 ued U d e o 3 AR
questions there is a certain relation between AN A de B Re 99w Mied §699
two numbers given on the left side of ::, e = & I oIk @& den ok & u foas
choose the correct alternatives in place of (?) | 97 /e (7) & &M W AR Ru e
'?'. So that the same relationship is IR Reedt & 4 0% T " B g © e
maintained on the right side of ::. Mark the € X il G | I8 dey § o faw o @
correct alternative on your answer sheet as EIT%i AR I q g B S 2 | G e B
directed. HIA I GReH W FESTgER a9y |
6:29::24:7
(1) 109 2) 129 (3) 119 4) 99
7:30::17:7
(1) 64 2) 89 (3) 81 4) 9%
6:8::3:7
(1 2 2) 4 3) 2 4) 32
27 :125 :: 64 : ?
(1) 162 (2) 216 (3) 273 4) 517
?7:63::08:26
(1) 12 2) 9 (3) 18 4) 15
17 :?::145: 195
(1) 42 (2) 35 (3) 30 4) 24
83:25::29:7?
(1) 25 2) 16 3) 49 4) 36
10:91::9:7
(1) 69 2) 72 3) 89 4 97

3)



9.

10.

20:50:: 100 :?

(1) 150 (2) 250
3:243::5:7

(1) 405 (2) 465

Questions 11-20 In each of the following

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

questions four group of letters are given.
Three of them are alike in some manner.
While one is different. Find the odd-one-out
and mark it on your answer sheet as
directed..

(1) CE 2) KI
(1) BD (2) NQ
(1) AC (2) EG
(1) AZ (2) DM
(1) BEG (2) HKM
(1) AFK (2) DIN
(1) HGF 2) DCB
(1) NML (2) QPO
(1) ZAB (2) UK
(1) CEI 2) QSX

Questions 21-30 In each of the following

21.

questions a series of numbers/aphabets 1is
given which follows certain rules. In these
series some numbers/alphabet is missing.
Find out the number/alphabets from the four
alternatives given below and mark it on your
answer sheet as directed.

cbb _ __baa _ ¢ — cccbeb — ba

(1) abaab (2) ababb

3)

3)

g3+

3)
3)
3)
3)
3)
3)
3)
3)
3)
3)

[MAT-2]

200 @) 156

3125 @) 546

11-20 F=ioied § & 9% 999 & IR RN
o U M@ ¥ | I & O Rl T Rl R
e e @ B R B oA @
TEaH H AR AT FU-gRam § FRgER
I |

FD 4) MK
RP 4) MK
PR 4) ST

BY 4) CX

PSU (4) MOQ
QSU 4) LQV
NPR (4) RQP
HGE @) XWV
YZA (4) STV
JLP 4) QSW

ge 21-30 9 RU U gdE Sib/A0 B gEar S

3)

f5 foreh wep e fam &1 o wh @ 1 SH
JEd @ Th fE/a0 e ¥ Ru M oar
el § & S8 ofb/aW # g2 R IW

iRl 8 FResTgER e &Y |

baaab (4) baaba

“4)



22.

23.

24.

25.

26.

27.

28.

29.

30.

ba _ ba _ bac _ acb _ cbac

(1) cbca 2)

7, 18, 40, 73, 117, ?

(1) 150 (2)

a_ab__baa _bb _

(1) abab 2)

6,7, 15,27, 51, 99

(1) 10 2)
— XX — Y — XyyX — ¥

(1) yyxy 2)
34, 18, 10, ?

(1) 8 2)
14, 19, 29, 49, 89, ?

(1) 139 )
WW _ X _X__yyzzZ _

(1) wzxy 2)

ccba

161

aabb

yXyx

149

WXXZ

R_S_PM _KSB_MRK _

(1) KRKSP 2)

KBRPS

3)

3)

3)

3)

3)

3)

3)

3)

3)

cabb

172

bbaa

11

XyyXx

159

WXYZ

RKSPM

4)

4)

4)

4)

4)

4)

4)

4)

“4)

[MAT-3]

caba

183

baba

12

YyxXx

169

XWZW

BPSMP

o)



[MAT-4]

gs 31-40 A= BT T gs H | IH ST B A
R 1,2, 3T4 Tl & &0 F R W2
qr S X H ¥ T IhSl B ISR SR S

Questions 31-40 In each of the following
questions, find out the figure from amongst
the alternatives 1, 2, 3 & 4 which can be

formed from the pieces given in X. T |
31.
J
oAV x| |4
X ey 2 3) 4
32.
AR VAN
agl |18 2o |
X 1) 2) 3) “4)
33.
IA
= Al Y| &
AN
X €y (03] 3) “4)
34. - V
N O B in /
X (D 2 3) 4
35.
4RY
aw | @ D] @] |
X 1) (2) 3) “4)

(6)



36.

37.

38.

39.

40.

[MAT-5]

>

HIEIN
wj

L~
>
N

>~

N A

)] 2 3) 4)
|
(1) 2) 3) “4)
ZER\ ]
)] 2 3) 4)
e)) 2 3) 4)
)] 2 3) 4)

(7



Questions 41-50 Study the pattern of numbers in
the following questions and select the
missing numbers in place of question mark
(7). Mark the correct alternative on your

[MAT-6]

g 41-50 fr=ifoied usi § Gemell & dedl @l
Y 3@ AR G B 6 geTaas e (?)
WM W B O g e | Ru T faemedt
4 4 W faeeq gl ATH SA-YRH T

answer sheet as directed. ﬁé&w a9 |
41. 3 6 9
15 31 ?
27 56 81
(1) 40 2) 32 (3) 45 “4) 55
42.
466 398
341 282
250 ?
(1) 298 2) 232 (3) 350 4) 268
43. 3 6 2
5112 1| 4 S| 18 | 2 ? 2
2 3 9
(1) 15 2) 18 3) 17 “4) 16
44.
6 4 9 24 15
9 6 3 8 ?
(1) 8 2) 7 3) 10 4 12

®)



45.

46.

47.

48.

49.

(1) 45

(1) 25

(1) 6

(1) 16

(1) 16, 8

5

16

49

(2) 48

9 15
29 ?
89 147

(3) 51

[MAT-7]

@) 54

2) 12

(3) 36

@ 0

2 5 G) 8
2 3
7 8
14 ?
2) 22 3) 23
1 9 ?
1 3 4
2 6 ?
2) 49,7 (3) 36,4

“ 9

4) 24

4) 25,5

®



50.

(1

9

11 30 7

3

35 (2) 32

Questions 51-60 In each of the following
questions four words are given. Three of
them are alike in some manner while one is
different. Find the odd one out and mark it
on your answer sheet as directed.

S1.

S2.

53.

54.

55.

56.

57.

(D
3)
(D
3)
(D
3)
(1
3)
(1
3)
(D
2)
3)
4)
(1)
3)

Earth (2) Moon
Mercury (4) Jupiter
River Ganga (2) River Yamuna
River Satluj (4) River Krishna

Pen (2) Book
Pencil (4) Chair
Water (2) Vapour
Snow (4) Wood
Thief (2) Writer
Orator (4) Journalist
Dr. Manmohan Singh

Lalbahadur Shastri

Indira Gandhi

Atal Bihari Bajpai

Cricket (2) Carromboard

Luddo (4) Chess

16

3) 27

4 14

[MAT-8]

g 51-60 f=fafad uds U9 ¥ IR 9= f’u U
oz A d el 7 5l v @ wEE R
eih Uh e B O 9= @ T & @R

S1.

52.

53.

54.

55.

56.

57.

IR gRee | FEATER &9 |

(1) gt (2) =&
3) 3 (4) gewfd
(1) T = (2) FgT &
(3) @t T 4) = T
(1) wH 2) feama
3) (4)

(1) 9= (2) a™

(3) T (4) TS
(1) ax (2) W@
(3) T (4) THR
(1) =t T e

(2) W FEIET A

(3) s e

(4) ¥ [Erl et

(1) Free (2) HTES
3) @ (4) SIS

(10)



8.

59.

60.

(1) Goat
(3) Sheep
(1) Lock
(3) Door
(1) Player

(3) Hospital

2)
(4)
2)
(4)
2)
(4)

Lion
Cat
Window
Wall
Football

Playground

Questions 61-70 Choose the words out of the
following options which are made from the
letters of the given word.

61.

62.

63.

64.

65.

66.

67.

STRUCTURES
(1) RESTS
JOURNALIST
(1) JOURNEY
INSTRUMENT
(1) TENTS
LIMITATION
(1) INTONE
HONESTY

(1) HONEY
EXAMINATION
(1) EXAMINER
OPERATION

(1) CAPTION

(2) TREES

(2) NATION

(2) MENTAL

(2) ACTION

(2) TESTY

(2) NATIONAL

(2) ROTATION

58. (1) %0
3)

58. (1) drm
(3) wawT

60. (1) faart

(3) STEdrT

[MAT-9]
(2) e
(4) fortt
) fag
(4) dar
(2) B

(4) ©F & P&

9% 61-70 Fr=ffed fawedt & | 9 9= g S R
T g & e q ST

(3) TRUTH

(3) TOURIST

(3) TRUTH

(3) OMIT

(3) HOME

(3) ANIMAL

(3) OPTION

“4)

4)

4)

4)

4)

4)

“4)

SECURE

RATION

METRE

TUTION

EAST

ANIMATION

NATION

(11)



68. INFORMATION

(1) FARMER (2) MOTION
69. MEASUREMENT

(1) MASTER (2) SUMMIT
70. TERMINATION

(1) NATIONAL (2) NATION

Questions 71-80 Study the following questions
and answer accordingly.

71. If '+' means 'x ', '-' means '+', 'Xx' means
'+'then5 +4-18x3 =7

(1) 18 2) -12

72. If '+' means 'x', '-' means '+', 'x' means
'='"and '+' means '-' then 10 + 5 x 10 +
2-5=7
(1) 35 (2) 45

73. If 'P' means '=', 'Q' means 'x', 'R' means
'+'and 'S' means '-' then I8 Q 12 P4 R 5
S6 =7

(I) 65 (2) 36

74. If '-' means 'x', 'x' means '+', '+' means
'+'and '+"'means '-' then40x 12 + 3-6

+ 60 =7
(1) 4 2) 44

75. If 'A' means '+', 'B' means '-', 'C' means
'x' and 'D' means '=' then which is the

correct equation given below.

(1) 8B6D2A4C3 =15

3 9C9B9D9A9 =17

[MAT-10]

(3) FIREMAN (4) NAME
(3) MANTLE (4) ASSURE
(3) TERMINATE (4) MENTAL

g 71-80 Fr=feiaa gt &1 ot Y A} IH &
AN T & |

71. i '+'@r oot 'x !, - @ e '+, 'k #w
'R A5 +4-18x3 =72

3) 26 4) 24

72. IR+ oo k!, - e+, 'k T o
' AR e - B A 10 +5x10 = 2 -
5=29

(3) 30 4) 8

73. IR P @ o '+, 'Q' # g 'x', 'R’ F oY
"+ 'S w - A AWI8QI2P4RS5S
6 =2

(3) 53 4) 59

74. TR - e x|, X w e+, e
AR A - A WMA0x 12 +3-6 +
60 =?

(3) 56 @) 7.72

75. A Hwad '+, 'B' @ oo -, 'C' o
'x' A 'D & F '+ A A AR Ru U g
Fag @ ad e ?

2) 8A8B8CS8 =-48

4 3A3B3C3A3D3=4

(12)



76. If 'J' means '+', 'K' means 'x', 'L' means
'-'"and 'M' means '+' then what is the value
of 9O MI4J7L8K2 =7

I 5 2) -5

77. If '5b2' means '10', '8 d 2' means '4', '8 a
2' means '6' and '8 ¢ 2' means '10' then 9
b8c8d4a9 =7

(1) 65 (2) 40

78. If va — v+v’ le — v_v’ va — 'X' and
'‘P'="+"then14 N1IOL42P2M8 =7

(1) 153 (2) 216

79. If '20-10' means '200', '8 +4' means '12',
'6x2' means '4' then 100 - 10 x 10000 +
1000 + 100 x 10 = ?

(1) 1090 (2) 20

80. If '+' means '-', '+' means '+', '+’
means '=' and '-' means 'x' then 13 - 12 +
400 + 20 x 100 = ?
(1) 1/760 (2) 176

Questions 81-85 Study the following diagram
and answer the questions given below.

8 9

81. In the above figure the boys who are athletic
and disciplined are indicated by which
number ?

H 1 2) 2

[MAT-11]
76. I T @ oo '+, 'K oot 'x', L' @ ord
'-'@T'M'Waé'ﬂ"a?ﬁ
OM14J7L8K?2 =72
(3) 14 4) 12
77. IR '5b2 & AL '10', '8d2 & JAF '4', '8 a

2" e '6' A '8c2 w g '10' A qr9b 8
c8d4a9=7?

(3) 42 4) 36

78' qﬁ VLI — l+l’ IMV — I_V, VNV — !Xl Gﬁ_{ VPI
='"+'@FAI4NIOL42P2M8 =?

(3) 248 (4) 251

79. 3fE '20-10" 1 3¢ '200', '8+4' & 7T '12',
'6x2' @1 o '4' @ a1 100 - 10 x 10000 +
1000 + 100 x 10 = ?

3) 0 (4) 1900

80. I '+ T -, Rl 4, Y
AR - g 'x B A 13 - 12 + 400 +
20x 100 = ?

(3) 176 4) 186
79 81-85 i@ RU W oM@ & I H AR
g9l H IAL S |

— Boys

— Qirls

/N
O

— Athletics

— Disciplined

81. ITNH RE F TeH o THaC & IR ST
g, fpe dem & i &

(3) 10 4 9

(13)



82.

83.

84.

8S.

Questions

86.
87.
88.
89.

90.

The boys who are not athletics but disciplined.

(1) 10 2) 8

The girls who are athletics but not disciplined.

(1 8 2) 9

Boys who are neither disciplined nor athletics.

(1) 10 2) 9

In the above diagram the boy who are only
athletics.

(1) 6 2 2

86-90 In each of the following
questions four group of letters are given
three of them are alike in some manner,
while one is different. Find the odd-one-out
and mark it on your answer sheet as
directed.

(1) HGF 2) DCB
(1) BD 2 IK
(1) FBI (2) QMT
(1) XT (2) JF
(1) CIG (2) HNK

[MAT-12]
82. TeH S UEIC el § Ak A § |
3 1 “ 9
83. TEHE S TN B Wb TG TE B |

(3) 10 4) 4

84. TS SN 7 o FIMAT & X T & qHlle & |

3) 1 “ 2

85. IW RRu W g & O™ @ T N R®
TIlle & |

3) 1 @) 10

g 86-90 fHfeiiad ¥ ¥ UP% U % AR STEN
o R T e | o 9 a9 Bt 7 e e
T & &% @ B 5 1 B onR Wi &

TeaN H AR I o |
(3) NPR (4) RQP
(3) SU 4) PN
(3) VRY (4) HEK
(3) RL (4) PL
(3) ELI 4) JQN

(14)



HqET-1I

Aferp Frar qe

w:wrr:q%ﬁ«m—%ﬁ%,ﬁ:am(%aaﬁa@?)%mﬁ%zoﬁﬁz s 90

A

1. T A & A uee A qrar oden & fawdt & dafea €

2, gl % IR 4 & @@ R B AW qEeen § 95 S |

3. T A F HF 90 9 ¥ |

4. T IS 1 3 B ¥ |

5. el gl B I A AR B |

6. Qferes A Tl & fawg Feaq 39 @ J fawe © -

%o Ho| W @ W W & awria g B Uit “‘ﬁmﬁ 5% H Bl AN

(®) | foom fowm @ e, WM @ Sia-faee 35 35 1 (T) of@
HEIF oTeTa T gieTeTd, I Qe SR 35 35 1

(@) | o ey (@) o

(w) | e LRG| 20 20 1 (w) &%

7. qgﬁmw,qﬁmmﬁ,a@ﬁﬁ;qwaﬁo THo R0 ITR-951% (OMR Answer-sheet) | & 37T 8 |

8. J&% 99 & IR JEus S R T E, H dad o & I e ©

9. 9e7-YRae & 997 § RU MU wiad famed SO0 A A G2 ey g S-Uee | HEl faehe A e bl 1 AR g

& I R B D

PART-II
SCHOLASTIC ABILITY TEST

Time : For General - 90 Minutes, For Disabled (Only Blind) - 120 Minutes
INSTRUCTIONS

Full Marks : 90

1. All the questions of this part are related to the subjects of Scholastic Ability Test.
2. Before answering the questions, read these instructions very carefully.
3. This part contains 90 questions.
4. Each question carries 1 mark.
5. Answer to all the questions is essential.
6. The subjects of Scholastic Ability Test are divided into three groups, as given below :
sl. No. Title of the group Subjects covered under the Full Marks No. .of Marks aIIotte_d to each
group questions question
(A) S(flel:lctt‘ Physu.:s, Chemistry 35 35 1 (one)
Discipline and Biology
B) Social Studies History, Geography, 35 35 1 (one)
and Humanities and Civics
©) Mathematics Mathematics 20 20 1 (one)
7. The questions are to be answered on the OMR Answer-sheet supplied in the Examination Hall.
8. Every question has four alternatives, of which only one is correct
9. Answer to each question is to be indicated by darkening the number of the correct alternative in the Answer-sheet from

amongst the one given for the corresponding question in the Test (Question) Booklet.

RN 91 I A YT P ST B | Please Turn Over the Page and Start Your Work.

(16)



Physics ( faat)
1. F=iofed o 4 @ g @ aq &l

1. In which of the following a force is
needed ?

(a)

(b)

(c)
(d)

(1)
(2)
(3)
(4)

To keep a particle moving on a
circular path with constant speed.

To keep a particle moving on a
straight path with constant speed
on a smooth surface.

To stop a particle is motion.

To increase Kkinetic energy of a
particle.

(a) and (b) only
(a), (c) and (d) only
(b), (c) and (d) only

(), (b), (c) and (d)

How many square metre are there in 1

square kilometre ?

(1)
(3)

(1)
(2)
(3)
(4)

1 (2) 100

1000 (4) 10,00,000

Which of the following is a non-contact
force ?

only magnetic force
only electrical force
only gravitational force

all of above
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Two blocks X and Y having mass 5 kg and
10 kg are place on top of a rough inclined
plane. Both of them start from rest and
slide along shortest path over rough
inclined plane. Which block will reach the
bottom of inclined plane earlier ?

(1) Block X
(2) Block Y

(3) Both Block X and Y will reach the
bottom at same time.

(4) We can not predict because
coefficient of friction of rough
inclined plane is not known

A rubber ball of mass 200g is floating on
the surface of water in a lake. If
acceleration due to gravity on earth
surface is 9.8 m/sec? and density of water
is 1 kg/litre, what will be the apparent
weight of the floating ball ?

(1) 0.2N (2) 0.2x9.8N
(3) 200x9.8 N (4) Zero Newton

Table-I has some physical variable and
Table-II has S.I. Units of variable/

Table-I Table-II

a force p newton
b  pressure q joule

c power r pascal
d energy s watt

Which of the following is properly
matched ?

(1) a=s,b=2>r,c=2p,d—¢q
(2) a=»p,b2r,c2q, d—=s
3) a=>p,b2r,c2s,d—>¢q
(4) a=q, b=>p,c=>r, d=>s

[PHY-2]
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(1) 0.2 e (2) 0.2 x 9.8 e

(3) 200 x 9.8 e (4) I T
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b € q S
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(1) a=s, b=>r, c>p, d—>¢q
2) a=>p,b=>r,c>q, d—=>s
3) a—=p,b=>r,c—2s,d—>q

4) a=q, b>p, c>r, d-s
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10.

11.

On a hot and humid day in a rainy season
the speed of sound in air is 350 ms!. A
sound of frequency 700 Hz is produced
by an electric bell. What will be
wavelength of sound in air ?

(1) 0.5cm (2) 50 cm
(3) 50 mm (4) None of these

A ray of light falls on a plane mirror. It
gets deviated by 90° from its original
path due to reflection, the angle of
incidence is

(1) 30° (2) 45°

(3) 60° (4) 90°
The electric charge of an electron is
-1.6 x 10! coulomb. How many
electrons will make a change of -1
coulomb ?

(1) 1.6x10°  (2) 6.25x 10'8
(3) 1.6x 108 (4) 6.25x 109

Which colour of light has
wavelength ?

(1) Violet colour light

shortest

(2) Green colour light

(3) Yellow colour light

(4) Red colour light
A wooden chair and an iron chair are
kept in an open on a cold winter night. If

a person touch wooden chair first and
then iron chair, what will he experience ?

(1) wooden chair is colder than iron
chair

(2) iron chair is colder than wooden
chair

(3) both wooden and iron chair will be
equally cold

(4) It will depend on body temperature
of person

10.

11.
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12.

13.

14.

15.

16.

Chemistry ( T8&T)
12. SHIST G99 BT ERT 3H 9 P STUAr

Which of the following make their own

food by photosynthesis ?
(1) Algae (2) Viruses
(3) Fungi (4) Protozoa

The unicellular organisms that sour milk
to make curd are :
(1) Bacteria (2) Viruses
(3) Fungi (4) Protozoa
Which of these is not a cereals ?
(1) maize (2) gram
(3) wheat (4) rice

Which of these is not a property of
plastics ?

(1) Bad conductor of heat

(2) Bad conductor of electricity
(3) Inflammable

(4) Soluble in water

Which of the following is true for all
metals ?

(1) They are hard solids
(2) They have 1-3 valence electrons

(3) They have high melting and
boiling points

(4) They are malleable and ductile

[CHE-1]
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17. When two bodies are rubbed against each
other.

(1) They acquire equal and similar
charges.

(2) They acquire equal and opposite
charges.

(3) They acquire unequal and similar
charges.

(4) They acquire unequal and opposite
charges.

18. Which of the following is not a conductor
of electricity ?

(1) Tap water (2) Salt water

(3) Petrol (4) Lime water
19. Sound can travel through

(1) solids only  (2) liquid only

(3) gases only (4) all of these

20. On passing electricity through copper
sulphate solution.

(1) Copper is formed at anode

(2) Copper is formed at cathode
(3) Oxygen is formed at anode

(4) Hydrogen is formed at cathode

21. Acid rain can be caused by burning
of :

(1) Petrol (2) CNG

(3) Diesel (4) Coal

17.

18.

19.
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[CHE-2]

22. In Fire extinguishers, a concentrated acid  22. 3fFsM® ¥ FE9 SHEEES I9 & FHOT T

is used to form carbondioxide. Name the % o7 & IUANT 9 BT & | ST of < & M
acid which participated in that reaction. g S 39 uflRT § AN AT © |

(1) conc. H,SO, (2) Conc. HCI (1) &= H,S0, (2) &= HCI

(3) conc. HNO; (4) All of these (3) dr= HNO, (4) T8 9 g

For Rough Work Only
(Fa@ gel FE B W)
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23.

24.

25.

26.

27.

28.

29.

Biology ( - )

The organisms which enrich the nutrients
quality of the soil are called

(1) Microbes
(3) Yeast

(2) Biofertilizer
(4) Biopesticides
Who coined the term Biology ?

(1) Linnaeus (2) Aristotle

(3) Theophrastus (4) Lamarck

What is the chromosome number in
Human ?

(1) 44
(3) 21

(2) 46
(4) 23

In which of the following places
fertilization takes place in females ?

(1) Vagina
(2) Uterus
(3) Fallopian tube
(4) Ovary

World AIDS day is celebrated on which
date of every year ?

(1) 5th June (2) 1st December
(3) 14th February (4) 28th March

The night blindness is caused by the
deficiency of -

(1) Vitamin A
(3) Vitamin C

(2) Vitamin B
(4) Vitamin D
Double helical model of DNA was given
by

(1) Watson & Crick

(2) Franklin

(3) Wilkins

(4) None of these

23.

24.

25.

26.

27.

28.

[BIO-1]
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30.

31.

32.

33.

34.

3s.

Which of the following is air borne
disease ?

(1) Tuberculosis (2) Diptheria

(3) Pneumonia (4) All of these
Penicillium reproduces by ?

(1) Budding (2) Fragmentation
(3) Gemmules (4) Conidia

The following molecule first appeared as
genetic material

(1) DNA
(2) RNA
(3) Protein
(4) None of the above
Which microbes convert milk into curd ?
(1) Fungi
(2) Algae
(3) Lactic acid bacteria
(4) None of these

Which of the following is not a green
house gas ?

(1) €O, (2) CH,

(3) Ozone (4) CFCs

Which of the following
hormone ?

(1) Insulin
(3) Astrogen

is a plant

(2) Thyroxin
(4) Cytokinin

30.

31.

32.

33.

34.

35.

[BIO-2]
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36.

37.

38.

39.

40.

41.

History ( 3Tqem™@)

The first trading company that came to

India in 1600 AD was -
(1) French (2) English
(3) Portuguese (4) Dutch

Gandhiji reached Champaran in 1917 at
the request of -

(1) Anugrah Narayan Singh
(2) Jai Prakash Narayan
(3) Rajkumar Shukla
(4) Rajendra Prasad
Who of the following is called God ?
(1) Siddhu (2) Kanu
(3) Birsa Munda (4) None of these

Mangal Pandey the great Indian Soldier
died on -

(1) 8 March 1857
(2) 8 April 1857
(3) 8 May 1857
(4) 8 June 1857
1857 Revolution began on -
(1) 10 May 1857
(2) 30 May 1857
(3) 2 June 1857
(4) 18 June 1857

Who called 1857 Revolt, 'First War of
Indian Independence' ?

(1) Dada Bhai Narojee
(2) Surendra Banerjee
(3) Rash Behari Ghosh
(4) Vinayak Damodar Savarkar

36.

37.

38.

39.

40.

41.

[HIS-1]
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42.

43.

44.

45.

46.

47.

Where was the first modern cotton mill in
India located ?

(1) Calcutta (2) Madras

(3) Delhi (4) Bombay
Lord William Bentinck abolished the Sati
Custom in 1832 at the plea of -

(1) Atmaram Pandurang

(2) Keshav Chandra Sen

(3) Ram Mohan Roy

(4) Ishwar Chandra Vidyasagar
"Turn to the Vedas' was the statement of -

(I) Ram Mohan Roy

(2) Dwarkanath Tagore

(3) Chandra Shekhar Dev

(4) Dayanand Saraswati

Which of the following statements are
correct ?

i. Vivekanand explained great
importance of Hinduism in USA.

ii. He quoted verses of Geeta.
iii. He denounced other religions.

iv. He delivered speech in the
American Parliament of Religions

in 1892.

(1) 1and i1 (2) iii and iv

(3) iand iv (4) ii and iii
Indian National Congress was first
presided by

(1) Dada Bhai Narojee

(2) Surendra Nath Banerjee

(3) Umesh Chandra Banerjee

(4) E. Wacha
Gandhiji stopped Civil Disobedience

Movement after a pact with -
(1) Lord Canning
(2) Lord Irwin
(3) Lord Linlithgow
(4) Lord Lytton

42.

43.

44.

45.

46.

47.
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48.

49.

50.

51.

52.

Geography (T )

Rice and fish are the principal food items
in which country of Asia ?

(1) Nepal (2) Bangladesh

(3) Pakistan (4) Sri Lanka
Which fact can be shown by Bar Diagram ?

(1) Production data of any crop for
several years separately

(2) Data of population distribution
(3) Data of earthquake distribution

(4) Percentage of Urban and rural
population of a country

The cotton textile industry is widely
distributed in the states of Maharashtra
and Gujarat due to :

(1) The cotton farming takes place in
most of the areas of these two
states

(2) Cheap labour is available in these
two states

(3) Transport network has made
adequate development in these two
states

(4) Machines and
easily available
states.

spare parts are
in these two

Which country is the largest exporter of
petroleum ?

(1) Kuwait
(3) Russia

The Jute Textile Industry of India has
principally developed in the state of West
Bengal due to :

(2) Nigeria
(4) Argentina

(1) This state is the largest producer
of jute crop

(2) Cheap labour is available

(3) There is a pressing demand of
Jute Textile goods in West Bengal

(4) Capital is easily available for
investment.

48

49.

50.

S1

52.
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53.

54.

5S.

56.

57.

58.

Which group of cities is famous for silk
textile industry ?

(1) Bengaluru, Kochi, Chennai
(2) Bhagalpur, Varanasi, Mysore
(3) Delhi, Kanpur, Mysore

(4) Mysore, Patna, Varanasi

What is the principle cause for the
development of Iron and Steel Industry at
Jamshedpur ?

(1) Availability of raw materials in
the nearby areas

(2) Availability of cheap labour

(3) Availability of market
nearby areas

in the

(4) Availability of favourable climate

Dense population is found in the Ganga
plain region due to :

(1) Industries are developed here

(2) Transport means are developed
here

(3) It is a region of fertile alluvial
plain
(4) Itis anurban region

Which country of South Asia has the
highest density of population per square

kilometer ?
(1) India (2) Pakistan
(3) Bangladesh (4) Maldives

Which canal connects Atlantic Ocean
with Pacific Ocean for International
trade ?

(1) Panama Canal (2) Soo Canal
(3) Suez Canal (4) Don-Volga Canal

Which one of the following is not a
plantation crop ?

(1) Coffee
(3) Cotton

(2) Tea
(4) Rubber

53.

54.

5S.

56.

57.
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